EANRAROREEHRT — 2 N—XBISY —F 202168118 (&) 6EEME3A

(PR —~NSEC1 5%R4KLE (xwlw | mEmml - v 5 w8
[A&4£] 17 :800,000 8 ~ 23#%&:320,000 3 ~ 33#&:200,000H . 4 7#:120,000 M . 5 i :80,000 M
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
(R S 4 5 | BEHT 1:30.8 4-4-4-3 | 39.2| — 1 475 | FEEFI— ()
1 8 ;\://?! E3 ‘ 56.0 (=) (+5) [Z 1585 PS
RO—-X%L 546 B:TF4T7LXEA— =R77—L
S N — > 4 | TRE 1:31.0 10-9-8-7 |38.8| — 4 491 | BAEE (F)
2|7|10|F>7 > h=A R (1172 o | tam
LA agR—-5— BTz 71307 RS
3l55|v=>v7 i 4 5—21’%%— 1(:33/102 1-11-11-9 | 38.2 | — 6 474 zgg%%&m
QN=5—S 9T Biv—ZFAT | s
4|5l6|T1I7NITTSR ik 4| ol B 1(:33/14)3 3-3-2-2 [39.8| — | 2 | 404 fﬁgg% (ki)
QBTG4 TSR B AIFATIT @2 Ny s
5 NESPEE i 4 5731%;%3& (11:311/.45) 9-10-10-8 | 39.2| — 3 446 g%ﬁlﬂ (Gt
Lox4o By K774 b -4 BAR77— L4
elglif| 7127719 it 4 gﬁﬁzt (11:311/.28) 6-6-5-5 | 40.0 | — 9 424 iﬁgﬁ (EH)
QRXHA-RT A B by TETHEAT #2155 o
71111 | FrHFTZ2> i 6 %5&2?!;&% 1(73::? 1-1-1-1 | 40.4| — 8 446 *J’;‘mzﬁf ()
R:O—-KHFO7 B:XTULTFry b 2 das,—n
N BESZ RS Ho R A S B R B B Bl - daf o
L KU—AYr—=— BHLATrRAIS D S
9lglio| FIv—2=7 9 572*%—3 (12312/28) 5-5-5-9 |41.1| — | 10 | 489 Eﬂ(g;ﬁéjp(ﬁgg%ﬂ
ZonA4n B2 IIWVERT 1 — © ILIL, YYET7—L
0 3| 7N KRE— €27 glgfhoi 1(:33/%4.)9 2-2-2-4 |41.5| — 5 463 ggg?éﬁﬂﬂ)
SV E @AV N =3 & DINACE & (4 #2) Eialll=ArEae
1l o | FK=—p—51-> it 4 Sl‘fii?gﬁr‘t 1(73?:5) 8-8-9-11 |41.0| — 11 446 ﬁﬁ?%i;%?ﬁﬁé
RV REYTA BIU— HL T ) | Ziesug
B 77y k7—F # 8 g’é?lg%*f (13313/26) 12-12-12-12| 39.2 | — | 12 | 532 /ﬂﬁggkﬁﬂi)
2:Archarcharch #2:Elizabits 6 lwoodiord Thorou gh
@ 1—F—@&BIEf
13=7r= 1,3,6,8,12,11,7,9,4,10,5,2
Pol=3F= 1,3,6,8,12,11,7,9,10,4,5,2
Ga=r= 1,(3,6),8,(11,12),7,10,9,4,5,2
43—7— |[1,6,8,3,(7,11),10,4,(5,12) ,9,2
[ RN
B OB 8 460 794K 8-10 550M e & 6-7 1,100/ JEE 5-8-10 3,940/
% B 8 160 5-8 680F B E 8-10 1,570 JEH 8-10-5 15,800
10 230 5-10 890 B H 8-10 2,670
6 320

ARICOVWTRDTEEERROODE. TR LIV,



